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QUESTION 1

What privilege is required to create a view on a table that you are not the owner of? 

A. INSERT 

B. SELECT 

C. CREATE 

D. TRIGGER 

Correct Answer: B 

 

QUESTION 2

Which tool allows users to connect to a DB2 database using a wizard? 

A. Control Center 

B. IBM Data Studio 

C. Universal Connection Expert 

D. DB2 Connection Pool Manager 

Correct Answer: B 

 

QUESTION 3

Which SQL statement should be used to select the minimum and maximum salaries (SALARY), by job code (JOB), from
a table EMPLOYEE? 

A. SELECT job, MIN(salary), MAX(salary)FROM employeeGROUP BY job; 

B. SELECT job, MIN(salary), MAX(salary)FROM employeeORDER BY job; 

C. SELECT job, MIN(salary), MAX(salary)FROM employeeGROUP BY job, MIN(salary), MAX(salary); 

D. SELECT JOB, MIN(salary), MAX(salary)FROM employeeORDER BY job, MIN(salary), MAX(salary); 

Correct Answer: A 

 

QUESTION 4

Which SQL statement will give user USER1 the ability to assign a comment to a sequence named MYSEQ? 

A. GRANT ALTER ON SEQUENCE myseq TO user1 
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B. GRANT USAGE ON SEQUENCE myseq TO user1 

C. GRANT SELECT ON SEQUENCE myseq TO user1 

D. GRANT COMMENT ON SEQUENCE myseq TO user1 

Correct Answer: A 

 

QUESTION 5

Which of the following privileges allow a user to update the comment on a sequence? 

A. ALTER 

B. USAGE 

C. UPDATE 

D. COMMENT 

Correct Answer: A 

 

QUESTION 6

When an index is created for a table, where is the metadata for that index stored? 

A. In the table definition. 

B. In the system catalog. 

C. In the schema that the index resides in. 

D. In the metadata of the table the index was created for. 

Correct Answer: B 

 

QUESTION 7

What needs to be defined in order to track changes made to a system-period temporal table over time? 

A. Once the row-begin, row-end, and transaction-start-id columns are created, all changes are tracked. 

B. A history table must be created with identical columns to the base table and a unique index must be defined on the
transaction-start-id column. 

C. A history table must be created as a clone table of the base table after the row-begin, row-end, and transaction-start-
id columns have beendefined. 

D. A history table must be created with identical columns to the base table and then the base table altered with the ADD
VERSIONING clause torelate it to the history table. 
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Correct Answer: D 

 

QUESTION 8

Which statement about UPDATE processing is FALSE? 

A. The UPDATE statement logs the before and after value of every column it modifies. 

B. A searched UPDATE is used to update one or more rows and a positioned UPDATE is used to update exactly one
row. 

C. When the UPDATE statement modifies parent key columns, the value of corresponding foreign key columns are also
modified. 

D. The UPDATE statement modifies the values of specified columns in the rows of a table, view, or underlying table(s)
of a specified fullselect. 

Correct Answer: C 

 

QUESTION 9

A table named EMPLOYEE was created as follows: Which action will prevent unauthorized users from accessing SSN
data? 

A. Assign the SSN column to a restricted role that only authorized users can access. 

B. Only grant ACCESSCTRL authority for the SSN column to users who need to access SSN data. 

C. Alter the table definition so that SSN data is stored in a separate schema that only authorized users can access. 

D. Create a view for the EMPLOYEE table that does not contain the SSN column and require unauthorized users to use
the view. 

Correct Answer: D 

 

QUESTION 10

What is the minimum product required for DB2 connectivity across all platforms? 

A. DB2 Personal Edition 

B. DB2 Development Edition 

C. DB2 Connect Personal Edition 
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D. DB2 Development Unlimited Edition 

Correct Answer: C 

 

QUESTION 11

Which function can be used to obtain values from XML documents that are to be inserted into one or more tables? 

A. XMLTABLE 

B. XMLPARSE 

C. XMLEXISTS 

D. XMLATTRIBUTES 

Correct Answer: A 

 

QUESTION 12

Which SQL statement will create a DB2 object that can be used to store numerical data as Canadian currency? 

A. CREATE DISTINCT ALIAS canadian_dollar AS DECIMAL (9,3) WITH COMPARISONS 

B. CREATE DISTINCT TYPE canadian_dollar AS DECIMAL (9,3) WITH COMPARISONS 

C. CREATE DISTINCT PROCEDURE canadian_dollar AS DECIMAL (9,3) WITH COMPARISONS 

D. CREATE DISTINCT FUNCTION canadian_dollar AS DECIMAL (9,3) WITH COMPARISONS 

Correct Answer: B 

 

QUESTION 13

If the following command is executed: CREATE DATABASE test What is the page size (in kilobytes) of the database? 

A. 4 

B. 8 

C. 16 

D. 32 

Correct Answer: A 

 

QUESTION 14

Which object is used to cache table and index data as it is read from disk? 
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A. Database 

B. Buffer pool 

C. Table space 

D. Package cache 

Correct Answer: B 

 

QUESTION 15

When a COMMIT statement is executed, what happens? 

A. All locks held on the database are automatically released. 

B. Data stored in global temporary tables is automatically deleted. 

C. Open cursors defined WITH HOLD are closed, but their data is retained. 

D. The current transaction is terminated and a new transaction boundary is started. 

Correct Answer: D 
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